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Solve the sudokus!
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Play the Windstorm board gawe on the next page!

“oa capil g@? ) s - AMERULES

T ' o S . what you still need:
a2 ' . e - Two sets of dice
R | - PaAwns

o o Bach player in turn throws the dice. Move your pawn
F 3 5 , , ’
SN "’;‘;‘ . i the nwumber of spaces tndicated by the dice. The player
g O SRR S who reaches the end first wins! But beware, there are
some obstacles along the way.
g 2 ;
Eoacs Here’s an overview so You Rnow what to expect:

‘ e B 4 > n a hwrry! Go forward = steps.
R AT eRe / & Sl ol Fol 9 > Your horse is tired. Skip 1 rownd to recover.
g, SiTs e o ; B, [Nt e e £ 20 > Bownus carrot. Your horse has extra energy. Roll
' 4 AL again.

i ki " IR ‘ 31 > You went Ln the wrong direction. Go back =
: asemiiR A , ed e B <teps.
.“I.'I . ’ ’
APV E . o, L 41 > You're stuck v the mud! Skip 2 rounds.
ATy ;f' | . 54 > You held the map upside down and got Lost. Go

: PR L e -
e R T ! 'l,-:.:'“‘? .
| \;Qi{% e alaliRl . - , . back 5 steps.

3 Lomiest RS RN e — 55 > A stream to drink from. Your horse has extra
| g Q ; 2t ;
(R4 3 i energy! Roll again.
y SHEge B Mol e &7 > Actree trunk on the road. Skip 3 rounds.
pras. >/ el e S L 4> You forgot Your bag. Go back to the beginning,.
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Can Yyow answer allthe

guestions correctly?

w order for a horse to be able to pull a carriage, it
needs...

Draw your own horse!

A. a saddle
B. a harness
C. a lunge

From what age are you allowed to ride a horse?

A.2 years
B = gears
Cof gcar

Awnother word for a 1 year old horse is....

A.Yea rling
B. Bangs
C. Toddler

How many penalty points do you get Lf you hit an
obstacle during a jumping course and it falls down?

A. 4
B.=
&
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